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M)(F)
46k.721 14.00 4.50 2.00 1.70 TY AP E A #R LERT
~ ~ ~ ~ ~ 279.0 279.0 279.0 As S
47k.000 19.50 5.90 10.00 4.05
M)(F)
47k.000 4.70 1.95
~ 19.50 ~ ~ 36.0 36.0 315.0 As S
47k.036 5.10 2.40
M)(F)
47k.036 14.00 5.00 2.00 1.35 o AYTE AR LET
~ ~ ~ ~ ~ 185.0 185.0 500.0 As S
47k.221 19.50 5.10 7.50 2.60
M)(F)
47k.221 4.10 7.50 1.70 TV F27 As 1.=124.0
~ 14.00 ~ ~ ~ 124.0 124.0 624.0 As S
47k.345 5.00 8.80 3.80
BXF)
47k.345 4.10 8.80 3.80 TV 27 As 1.=76.0
~ 14.00 ~ ~ ~ 76.0 76.0 700.0 As S
47k.421 4.20 10.00 4.30
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(FXF)
47k.421 4.20 10.00 4.15 TY F27 As L=55.0
~ 14.00 ~ ~ ~ 55.0 55.0 755.0 As 0 F27 As 1.=55.0
47k.476 4.30 10.10 4.30 S
BXF)
47k.476 4.00 10.10 4.10 A TY I As 1.=50.0
~ 14.00 ~ ~ ~ 50.0 50.0 805.0 As b F27 As 1=50.0
47k.526 4.30 10.50 4.55 S
BXF)
47k.526 4.00 10.50 3.15 TY F>7 As 1L=33.0
~ 14.00 ~ ~ ~ 33.0 33.0 838.0 As 0 F27 As 1.=33.0
47k.559 4.30 11.20 4.70 S
(F)
47k.559 2.30 2.55 TY F27 As 1L=82.0
~ 14.00 ~ 11.20 ~ 82.0 82.0 920.0 As b T2 As 1.=82.0
47k.641 2.40 3.35 S
47k.641 11.00 2.45 TV F27 As 1.=204.0
~ 14.00 ~ ~ 204.0 204.0 1,124.0 As kb F27 As 1=204.0
47k.845 11.20 2.55 S
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(F)
47k.845 2.00 2.40 TV F>7 As 1.=54.0
~ 14.00 ~ 11.00 ~ 54.0 54.0 1,178.0 As 10 F27 As 1.=54.0
47k.899 2.10 2.45 S
(F)
47k.899 2.10 8.60 2.40 10 F27 As 1.209.0
~ 14.00 ~ ~ ~ 209.0 209.0 1,387.0 As S
48k.108 2.20 11.00 3.90
(F)
48k.108 14.00 2.20 2.00 3.20 TY AP A EAR LET
~ ~ ~ ~ ~ 438.0 438.0 1,825.0 As Sl
48k.546 17.50 2.50 8.60 3.90
(F)
48k.546 2.60
~ 17.50 2.50 ~ 38.0 38.0 1,863.0 As S
48k.584 3.80
(F)
48Kk.584 14.00 2.30 2.00 1.90 o AYTE AR LERT
~ ~ ~ ~ ~ 1082.0 1082.0 2,945.0 As TV EOBRE HEAR 1T
49k.666 17.50 2.50 10.80 3.70 TV B OBRYEA B & T

S
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49k.666 14.00 10.80 1.30 TY AI3E As L=42.0

~ ~ ~ ~ 42.0 42.0 2,987.0 As Y TR 1T
49k.708 17.00 11.10 2.40 S
49k.708 14.00 5.30 1.30 TY AP E A #R LERT

~ ~ ~ ~ 389.0 389.0 3,376.0 As TV HE As L=389.0
50k.097 19.50 11.10 2.30 Y {iliE G L=389.0

RSl

50k.097 19.50 2.00 2.30 TV AP A #FERCERD

~ ~ ~ ~ 113.0 113.0 3,489.0 As TV HE As L=113.0
50k.210 21.50 5.30 3.90 v filiE G L=113.0

RS

50k.210 21.50 3.90

~ ~ ~ 42.0 42.0 3,531.0 As R
50k.252 22.50 5.50
50k.252 22.50 2.00 5.50 o AYTE AR LET

~ ~ ~ ~ 45.0 45.0 3,576.0 As TV {llE As L=45.0
50k.297 23.50 3.00 6.50 S
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IO ST o W)
50k.297 19.50 3.00 5.50 TV AI5E As L=92.0
~ ~ ~ ~ 92.0 92.0 3,668.0 As Y T As 1292.0
50k.389 23.50 9.60 6.50 Y fHliE As 1.=92.0
Rl
RO SV W)
50k.389 14.00 1.40 TV Al5E As L=256.0
~ ~ 9.60 ~ 256.0 256.0 3,924.0 As kb F27 As 1.=256.0
50k.645 19.50 5.50 Y fHliE As 1L=256.0
Rl
50k.645 14.00 1.40 HEEAG TV 77 As L=118.0
~ ~ ~ 118.0 118.0 4,042.0 As Y Fo7 As L=118.0
50k.763 17.50 1.50
Rl
50k.763 17.20 1.50 TV 27 As 1.=87.0
~ 14.00 ~ ~ 87.0 87.0 4,129.0 As Y fHliE As 1L=87.0
50k.850 20.20 5.50 S
50k.850 5.90 3.80 10 Fo7 As 1.=244.0
~ 14.00 ~ ~ 244.0 244.0 4,373.0 As S
51k.094 20.20 5.50
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51k.094 3.30 /NME A Y Fo7 As L=18.7
~ 14.00 ~ 18.7 18.7 4,391.7 As T
51k.1127 4.30
51k.1127 3.00 3.00
~ 14.00 ~ ~ 729.3 729.3 5,121.0 As
51k.842 6.70 4.55 S
51k.842 2.20 FEEEAAE
~ 14.00 ~ 347.0 347.0 5,468.0 As S
52k.189 3.30
(F)
52k.189 TR AR
~ 14.00 2.50 2.90 5.0 5.0 5,473.0 As S
52k.194
(F)
52k.194 2.90 SRR 45
~ 14.00 2.50 ~ 752.0 752.0 6,225.0 As S
52k.946 2.60
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(F)

52k.946 T = A

~ 14.00 2.60 8.0 8.0 6,233.0 As St
52k.954
52k.954 2.60 T = A

~ 14.00 ~ 346.0 346.0 6,579.0 As ot
53k.300 3.30
53k.300 2.80 3.30

~ 14.00 ~ ~ 189.0 189.0 6,768.0 As S
53k.489 10.00 3.60
53k.489 3.30 kb Z7 As 1=13.0

~ 14.00 10.00 ~ 13.0 13.0 6,781.0 As S
53k.502 3.60
53k.502 3.30 TW Z>7° As L=375.0

~ 14.00 10.00 ~ 375.0 375.0 7,156.0 As Y Fo7 As 1=375.0
53k.877 3.40 S
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53k.877 3.40 BEHS AR T o7 AS 1=41.0
~ 14.00 ~ 41.0 41.0 7,197.0 As 10 S AS 1.=41.0
53k.918 3.50 S
TV AE As L=344.0
53k.918 9.50 3.20 TV F27 As 1.=344.0
~ 14.00 ~ ~ 344.0 344.0 7,541.0 As kb F27 As 1=344.0
54k.262 10.00 3.50 Y fHliE As 1L=52.0
Rl
54k.262 5.30 3.20 TV Al5E As L=52.0
~ 14.00 ~ ~ 59.0 52.0 7,593.0 As TW 77 As L=52.0
54k.314 9.50 3.40 Y fHliE As 1L=52.0
RSl
54k.314 14.00 2.50 TV AI5E As L=334.0
~ ~ 5.30 ~ 334.0 334.0 7,927.0 As Y filiE As L=334.0
54k.648 19.50 3.50 T AT AR 1T
Rl
54k.648 19.50 4.30 TV AI3E As L=17.0
~ ~ ~ 2.60 17.0 17.0 7,944.0 As v filiE As L=17.0
54k.665 20.50 5.30 T AP (R
Rl
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(FXF)
54k.665 TV I3E As L=9.0
~ 20.50 3.40 4.30 2.60 9.0 9.0 7,953.0 As 0 filiE As L=9.0
54k.674 T AP R
RISl
(F)
54k.674 TV I3E As L=8.0
~ 20.50 1.70 4.30 2.60 3.0 8.0 7,961.0 As Y {38 As L=8.0
54k.682 S
(F)
54k.682 TV Al5E As L=15.0
~ 20.50 1.70 2.60 15.0 15.0 7,976.0 As Y filiE As L=15.0
54k.697 S
Y AP R 1T
54k.697 14.00 3.20 1.50 TV A& As L=78.0
~ ~ ~ ~ 780.0 780.0 8,756.0 As 0 fliE As L=78.0
55k.477 19.00 14.00 3.10 o AYTE AR LET
RIS
(F)
55Kk.477 1.60 TV AI3E As L=65.0
~ 17.50 3.30 ~ 65.0 65.0 8,821.0 As Y fHliE As 1.=65.0
55k.542 3.30 S
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(F)
55k.542 2.40 o AYTE AR LET
~ 17.50 3.30 3.30 ~ 17.0 17.0 8,838.0 As b fiE As L=17.0
55k.559 3.70 S
IO STV W)
55k.559 14.00 3.30 2.50 TV AI5E As L=492.0
~ ~ ~ ~ 492.0 492.0 9,330.0 As Y fHliE As L=492.0
56k.051 17.50 13.50 6.50 S
56k.051 6.60 4.50 TV Al5E As L=121.0
~ 14.00 ~ ~ 121.0 121.0 9,451.0 As v F27 AS 1=121.0
56k.172 9.50 6.50 Y fHliE As L=121.0
S
TV fAliE As L=18.0
56k.172 3.50 Th 7" As L=18.0
~ 14.00 6.60 ~ 18.0 18.0 9,469.0 As 10 Fo7 As 1.=18.0
56k.190 4.50 v filiE As L=18.0
S
TV AlE As L=127.0
56k.190 6.50 2.10 TV 27 As 1=127.0
~ 14.00 ~ ~ 127.0 127.0 9,596.0 As Y F7 As 1=127.0 2K
56k.317 6.60 3.50 Y filiE As L=127.0
S
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TV AE As L=202.0
56k.317 2.10 TV 27 As 1.=202.0
~ 14.00 6.50 ~ 202.0 202.0 9,798.0 As 0 Fo7 As 1.202.0
56k.519 3.40 Y fHliE As 1=202.0
Sy
56k.519 BRI E A TV 77 As L=202.0
~ 14.00 3.50 35.0 35.0 9,833.0 As 0 Fo7 As 1.202.0
56k.554 S
TV fAlE As L=83.0
56k.554 3.40 TV Z7° As L=83.0
~ 14.00 6.00 ~ 83.0 83.0 9,916.0 As 10 F27 As 1.=83.0
56k.637 3.50 S
TV {fliE As L=61.0
56k.637 3.40 oAt FY o7 As L=61.0
~ 14.00 ~ 61.0 61.0 9,977.0 As 10 F27 As 1.=61.0
56k.698 3.50 Y fHliE As 1L=61.0
S
TV {fliE As L=71.0
56k.698 6.00 TV 27 As L=71.0
~ 14.00 ~ 3.50 71.0 71.0 10,048.0 As kb Z7 As L=T71.0
56k.769 6.20 Y fHliE As L=71.0
S
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TV fAliE G L=88.0
56k.769 6.20 2.10 TV F>7 As 1.=88.0
~ 14.00 ~ ~ 8.0 88.0 10,136.0 As 10 F27 As 1.=88.0
56k.857 7.70 3.50 Y fHliE As 1.-88.0
Rl
TV fAliE As L=135.0
56k.857 7.70 1.90 TV F>7 As 1=135.0
~ 14.00 ~ ~ 135.0 135.0 10,271.0 As 10 F27 As 1.=135.0
56k.992 10.00 2.10 Y filiE As L=135.0
Rl
56k.992 10.00 1.90 TV A& As L=20.0
~ 14.00 ~ ~ 20.0 20.0 10,291.0 As TV F>7 As 1.=20.0
57k.012 10.30 2.40 Y fHliE As 1=20.0
Rl
57k.012 14.00 10.30 2.40 TV A5E As L=374.0
~ ~ ~ ~ 374.0 374.0 10,665.0 As 0 fE As L=374.0
57k.386 19.50 10.40 3.80 S
57k.386 TV AI3E As L=57.0
~ 19.25 3.50 57.0 57.0 10,722.0 As kb Z27 AS L=57.0
57k.443 Y fHliE As L=57.0
Rl
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TV AlE As L=386.0
57k.443 17.50 1.75 TV F27 As 1.=386.0
~ ~ ~ 386.0 386.0 11,108.0 As kb F27 As 1.=386.0
57k.829 19.50 3.50 Y {HliE As 1.=386.0
Rl
TV AE As L=114.0
57k.829 1.50 WG = 2845 TV 7 As L=114.0
~ 17.50 ~ 114.0 114.0 11,222.0 As 0 Fo7 As 1=114.0
57k.943 1.75 Y filiE As L=114.0
Rl
TV {fliE As L=37.0
57k.943 17.50 TV 27 As 1.=37.0
~ ~ 3.50 37.0 37.0 11,259.0 As kb Z27 As L=37.0
57k.980 19.50 Y fHliE As 1L=37.0
R
TV AlE As L=297.0
57k.980 3.00 TV F27 As 1.=297.0
~ 19.00 ~ 9297.0 297.0 11,556.0 As 10 F27 As 1.=297.0
58Kk.277 3.50 Y fHliE As L=297.0
Rl
TV fAlE As L=63.0
58k.277 TV 27 As 1.=63.0
~ 14.50 2.00 63.0 63.0 11,619.0 As Y fHliE As 1L=63.0
58Kk.340 S
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58k.340 14.50 2.95 TV Al3E As L=562.0

~ ~ ~ 562.0 562.0 12,181.0 As Y filiE As 1.=562.0
58k.902 19.00 2.75 S
58k.902 17.00 TV AI5E As L=12.0

~ ~ 3.75 2.75 12.0 12.0 12,193.0 As Y fHliE As L=12.0
58k.914 19.00 S

Y AP R 1T

58k.914 19.00 1.75 TV AI5E As L=202.0

~ ~ ~ 2.75 202.0 202.0 12,395.0 As Y filiE As 1L.=202.0
59k.116 23.50 3.75 L0 Afr e S 16E T

St

59k.116 3.00 TV A3E As L=15.0

~ 17.50 ~ 2.95 15.0 15.0 12,410.0 As Y filiE As L=15.0
59k.131 4.00 S
59k.131 2.00 TV A5E As L=714.0

~ 17.50 ~ 714.0 714.0 13,124.0 As Y filiE As L=714.0
59Kk.845 2.75 S
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TV fAlE As L=50.0
59k.845 b 57 As 1=50.0
~ 17.50 2.75 50.0 50.0 13,174.0 As Y filiE As 1L=50.0
59k.895 S
TV AlE As L=389.0
59k.895 17.50 1.75 TV F>7 As 1.=389.0
~ ~ ~ 389.0 389.0 13,563.0 As kb F27 As 1.=389.0
60k.284 19.50 3.50 Y filiE As 1=389.0
Rl
60k.284 K0 M 5 E TY I As 1.=34.0
~ 19.50 3.50 34.0 34.0 13,597.0 As 10 27 As 1.=34.0
60k.318 S
TV AE As L=447.0
60k.318 18.50 2.50 TV F27 As L=447.0
~ ~ ~ 447.0 447.0 14,044.0 As kb F27 As L=447.0
60k.765 19.50 3.50 Y fHiE As L=447.0
Rl
TV fAliE As L=58.0
60k.765 18.00 2.95 TV 27 As 1.=58.0
~ ~ ~ 58.0 58.0 14,102.0 As Y fHliE As L=58.0
60k.823 18.50 2.75 S
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60k.823 18.00 1.50 TV A5E As L=124.0
~ ~ ~ 124.0 124.0 14,226.0 As Y filiE As 1L=124.0
60k.947 19.50 2.75 S
DR E ST
60k.947 19.50 TV fAl5E As L=51.0
~ ~ 1.50 51.0 51.0 14,277.0 As v filiE As L=51.0
60k.998 20.00 St
L0 P A 16T
60k.998 17.50 TV Al5E As L=562.0
~ ~ 2.50 562.0 562.0 14,839.0 As Y filiE As 1.=562.0
61k.560 19.50 S
TV fAlE As L=86.0
61k.560 10 F27 As 1.=86.0
~ 19.50 2.50 86.0 86.0 14,925.0 As Y fHliE As 1.=86.0
61k.646 S
TV AlE As L=360.0
61k.646 18.00 TV F27 As 1.=360.0
~ ~ 2.00 360.0 360.0 15,285.0 As kb F27 As 1.=360.0
62k.006 19.50 Y {HliE As 1=360.0
St

i REERICE. BEBEXBEFEZOMEROEE LW ELEREZREHISIL



£k

(17/49)

£ RO E G4

HEINGE R ﬁﬁiw RS
- i A i R Ll
HOE %O 5y B M % E G & VEAR iR i
62k.006 =BG TV o7 As L=81.0
~ 18.00 3.00 81.0 81.0 15,366.0 As 10 27 As 1.=81.0
62k.087
S
TV {fliE As L=481.0
62k.087 18.00 TV F27 As 1=481.0
~ ~ 2.00 481.0 481.0 15,847.0 As kb F27 As 1.=481.0
62k.568 18.50 Y fHliE As L=481.0
Sy
TV {fliE As L=52.0
62k.568 2.00 TV F27 As 1.=52.0
~ 18.50 ~ 59.0 52.0 15,899.0 As Y fHliE As L=52.0
62k.620 4.00 S
DR E T
62k.620 22.50 TV AI5E As L=580.0
~ ~ 4.00 580.0 580.0 16,479.0 As Y filiE As L=580.0
63k.200 24.00 0 AP ER F EBAR 16ET
S
TV fAlE As L=26.0
63k.200 10 o7 As 1.=26.0
~ 22.50 4.00 26.0 26.0 16,505.0 As Y fHliE As 1=26.0
63k.226 S
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TV AlE As L=467.0
63k.226 TV F27 As L=467.0
~ 22.50 4.00 467.0 467.0 16,972.0 As kb F27 As 1=467.0
63k.693 Y {HliE As 1L=467.0
S
63k.693 B H B A TY I As 1L=32.7
~ 22.50 3.95 32.7 32.7 17,004.7 As 10 Fo7 As 1=32.7
63k.725 Sl
TV AE As L=475.3
63k.725 2.75 TV F27 As L=475.3
~ 22.50 ~ 475.3 475.3 17,480.0 As kbW F27 As 1=475.3
64k.201 3.50 Y fHliE As L=475.3
Sy
TV {fliE As L=72.0
64k.201 TV 27 As L=72.0
~ 22.50 3.00 79.0 72.0 17,552.0 As Y fHliE As L=72.0
64k.273 Sy
TV AE As L=64.0
64k.273 Y fHliE As 1=64.0
~ 22.50 3.00 64.0 64.0 17,616.0 As AR ZE+2.0mAfi IE
64k.335 S
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64k.335 1.00 1.50 1=-2.0m TV A& As L=2833.0
~ 25.00 ~ ~ 2833.0 2833.0 20,449.0 As Y fliE As 1.=2833.0
67k.170 4.00 3.50 o AYTE AR 3T
S
TV {fliE As L=53.0
67k.170 10 27 As 1.=53.0
~ 25.00 2.00 3.50 53.0 53.0 20,502.0 As Y fHliE As 1L=53.0
67k.223 S
TV AlE As L=502.0
67k.223 3.00 TV F>7 As 1.=502.0
~ 25.00 2.00 ~ 502.0 502.0 21,004.0 As 10 F27 As 1.=502.0
67k.725 3.50 Y filiE As 1=502.0
S
67k.725 BT H 5B G TY I As 1.=32.0
~ 25.00 2.00 3.75 32.0 32.0 21,036.0 As 10 F27 As 1.=32.0
67k.757 S
TV AE As L=446.0
67k.757 TV F27 As 1=446.0
~ 25.00 2.00 3.95 446.0 446.0 21,482.0 As kb F27 As 1.=446.0
68k.203 Y fHliE As 1L=446.0

S
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TV fAlE As L=30.0
68k.203 TV 27 As 1.=30.0
~ 25.00 2.00 3.95 30.0 30.0 21,512.0 As Y filiE As 1=30.0
68k.233 S
TV {fliE As L=39.0
68k.233 TV 27 As 1.=39.0
~ 25.00 2.00 3.95 39.0 39.0 21,551.0 As kb Z27 As 1=39.0
68k.272 Y fHliE As 1=39.0
S
TV AlE As L=32.0
68k.272 10 o7 As 1.=32.0
~ 25.00 2.00 3.95 39.0 32.0 21,583.0 As Y fHliE As 1L=32.0
68k.304 S
TV fAliE As L=108.0
68k.304 TV F>7 As 1.=108.0
~ 25.00 2.00 3.95 108.0 108.0 21,691.0 As kbW F27 As 1.=108.0
68k.412 Y {iliE As 1L=108.0
S
TV {fliE As L=12.5
68k.412 TV F27 As 1=12.5
~ 25.00 2.00 3.95 12.5 12.5 21,703.5 As kb F7 As L=12.5
68k.4245 Y fHliE As L=12.5
S
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TV AE As L=579.5
68k.4245 3.95 TV 27 As 1.=579.5
~ 25.00 2.00 ~ 579.5 579.5 22,283.0 As 10 F27 As 1.=579.5
69k.004 3.50 Y filiE As L=579.5
Rl
TV fAlE As L=68.0
69k.004 TV F>7 As 1.=68.0
~ 25.00 2.00 3.95 68.0 68.0 22,351.0 As Y fHliE As 1L=68.0
69k.072 S
Y P R AT
69k.072 25.00 1.00 1.50 TV A& As L=3231.0
~ ~ ~ ~ 3931.0 3231.0 25,582.0 As v filiE As 1.=3231.0
72k.303 26.75 2.00 3.50 Y AT AR SE T
Rl
72k.303 KA
~ 25.50 2.00 3.50 34.0 34.0 25,616.0 As S
72k.337
DR E T
72k.337 20.50 1.00 1.50 TV AI5E As L=935.0
~ ~ ~ ~ 935.0 935.0 26,551.0 As Y filiE As L=935.0
73k.272 26.50 2.00 3.50 o AYTE AR 1ET
Rl
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TV {fliE As L=77.0
73Kk.272 10 o7 As L=T7.0
~ 20.50 2.00 3.50 77.0 77.0 26,628.0 As Y fHliE As L=77.0
73k.349 Sl
TV {fliE As L=334.0
73k.349 18.00 TV F>7 As 1.=334.0
~ ~ 2.00 3.50 334.0 334.0 26,962.0 As kb F27 As 1.=334.0
73k.683 19.00 Y filiE As 1.=334.0
Sy
73k.683 FEIREEEAS TV 77 As 1L=97.5
~ 19.00 2.00 3.50 97.5 97.5 27,059.5 As 10 F27 As 1=97.5
73k.780 Sl
TY {fliE As L=333.5
73k.780 18.50 TY F>7 As 1.=333.5
~ ~ 2.00 3.50 333.5 333.5 27,393.0 As kb F27 As 1.=333.5
T4k.114 19.00 Y filiE As 1.=333.5
Sy
TV AE As L=22.0
74k.114 TV 27 As 1.=22.0
~ 22.25 2.00 3.50 29.0 22.0 27,415.0 As Y fHliE As L=22.0
74k.136 S
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74k.136 TY {fliE As L=73.0
~ 25.50 2.00 3.50 73.0 73.0 27,488.0 As Y fHliE As L=73.0
74k.209 Sl
TV {fliE As L=136.0
74k.209 18.50 TW 57 As L=136.0
~ ~ 2.00 3.50 136.0 136.0 27,624.0 As kbW F7 As 1=136.0
74k.345 19.00 Y filiE As 1L.=136.0
S
TV {fliE As L=22.7
74k.345 /IS AR IS HA T0 Fo7 As 1=22.7
~ 18.50 2.00 3.50 22.7 22.7 27,646.7 As 10 FU7 As 1=22.7
74k.368 v filiE As 1L=22.7
S
TY {fliE As L=185.3
74k.368 TW 57 As 1L=185.3
~ 18.50 2.00 3.50 185.3 185.3 27,832.0 As kbW F27 As 1.=185.3
74k.553 Y filiE As 1.=185.3
S
74k.553 /N AR B AR TV Fo7 As 1L=73.5
~ 18.50 2.00 3.50 73.5 73.5 27,905.5 As 10 F27 As 1L=73.5
74k.626 R
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TY {fliE As L=123.5
74k.626 TV F27 As 1.=123.5
~ 18.50 2.00 3.50 123.5 123.5 28,029.0 As kb F07 As 1=123.5
74k.750 Y filiE As 1L.=123.5
S
TV ffliE As L=17.1
74k.750 ey i st )| TY 7 As L=17.1
~ 18.50 2.00 3.50 17.1 17.1 28,046.1 As 0 Fo7 As L=17.1
74k.767 Y filiE As L=17.1
S
TV {fliE As L=120.9
74K.767 TV F27 As 1.=120.9
~ 18.50 2.00 3.50 120.9 120.9 28,167.0 As kbW F7 As 1=120.9
74k.888 v filiE As 1L.=120.9
S
TV fAlE As L=30.0
74k.888 v 27 As 1.=30.0
~ 21.75 2.00 3.50 30.0 30.0 28,197.0 As Y fHliE As 1=30.0
74k.918 Sl
74k.918 TV {fliE As 1.=885.0
~ 26.00 2.00 3.50 885.0 885.0 29,082.0 As Y {38 As L=885.0
75k.803 Sl
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TV {filiE As L=117.0
75k.803 TV F27 As L=117.0
~ 22.25 2.00 3.50 117.0 117.0 29,199.0 As Y filiE As L=117.0
75k.920 Sl
TV {fliE As L=296.0
75k.920 TV 27 As 1.-296.0
~ 18.50 2.00 3.50 296.0 296.0 29,495.0 As kb F27 As 1.=296.0
76k.216 Y fHliE As 1L=296.0
Sy
76k.216 BRI AR TV 77 As 1=39.0
~ 19.50 1.25 3.50 39.0 39.0 29,534.0 As 10 Fo7 As 1.=39.0
76k.255 Sl
TV {filiE As L=388.0
76k.255 TV F>7 As 1.=388.0
~ 18.50 2.00 3.50 388.0 388.0 29,922.0 As kb F27 As 1.=388.0
76k.643 Y filiE As 1=388.0
Sy
TV {fliE As L=70.0
76k.643 3.00 TV 27 As 1.=70.0
~ 21.75 2.00 ~ 70.0 70.0 29,992.0 As Y fHliE As L=70.0
76k.713 3.50 S
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Y AP R 28T
76k.713 25.00 1.00 1.50 TV A& As L=1355.0
~ ~ ~ ~ 1355.0 1355.0 31,347.0 As Y fiE As 1L.=1355.0
78k.068 26.50 4.00 3.00 o AT AR 26T
St
TV fAlE As L=70.0
78k.068 10 27 As 1.=70.0
~ 22.00 2.00 3.00 70.0 70.0 31,417.0 As Y fHliE As L=70.0
78k.138 S
TV fAliE As L=387.0
78k.138 18.00 2.00 3.00 TV F>7 As 1.=387.0
~ ~ ~ ~ 387.0 387.0 31,804.0 As kb F27 As 1.=387.0
78k.525 18.50 3.00 3.50 Y fHliE As 1L=387.0
St
78k.525 RIS — 5 TW Z>7 As 1.=38.0
~ 17.50 3.00 3.00 38.0 38.0 31,842.0 As 10 F27 As 1.=38.0
78k.563 S
TV fAlE As L=366.0
78k.563 18.00 2.00 TV 27 As 1.=366.0
~ ~ ~ 3.50 366.0 366.0 32,208.0 As kb F27 As 1.=366.0
78k.929 18.50 3.00 Y {HliE As 1L=366.0
Rs: i
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TV {fliE As L=74.0
78k.929 TV 27 As L=74.0
~ 22.00 2.00 3.50 74.0 74.0 32,282.0 As Y fHliE As L=74.0
79k.003 S
DR E ST
79k.003 25.50 TV Al5E As L=706.0
~ ~ 2.00 3.50 706.0 706.0 32,988.0 As Y filiE As L=706.0
79k.709 26.50 0 AP AR 16T
S
TV {fliE As L=73.0
79k.709 b 27 As 1=73.0
~ 22.50 2.00 3.50 73.0 73.0 33,061.0 As Y fHliE As L=73.0
79k.782 S
TV AlE As L=338.0
79k.782 3.00 TW F>7 As 1.=338.0
~ 18.50 2.00 ~ 338.0 338.0 33,399.0 As 0 F27 As 1.=338.0
80k.120 3.50 Y fHliE As 1.=338.0
S
80k.120 A5 5 E TW Z>7 As 1.=139.5
~ 16.50 2.00 1.50 139.5 139.5 33,538.5 As 10 F27 As 1.=139.5
80k.259 S
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TV AE As L=364.5
80k.259 TV F27 As 1.=364.5
~ 18.50 2.00 3.50 364.5 364.5 33,903.0 As kb F27 As 1.=364.5
80k.624 Y filiE As L=364.5
RSl
TV fAlE As L=70.0
80k.624 TV 27 As 1=70.0
~ 22.00 2.00 3.50 70.0 70.0 33,973.0 As Y filiE As L=70.0
80k.694 S
DR E ST
80k.694 25.50 1.50 TV AI5E As L=895.0
~ ~ 2.00 ~ 895.0 895.0 34,868.0 As Y {38 As L=895.0
81k.589 27.00 4.00 S
81k.589 2.00 TV Al5E As L=180.0
~ 21.00 2.00 ~ 180.0 180.0 35,048.0 As Y filiE As L=180.0
81k.769 3.00 S
TV fAliE As L=360.0
81k.769 TV F>7 As 1.=360.0
~ 16.50 2.00 1.50 360.0 360.0 35,408.0 As kb F27 As 1.=360.0
82k.129 Y fHliE As 1=360.0
Rl
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TV AE As L=275.0
82k.129 B A TW S As 1L=275.0
~ 16.50 2.00 1.50 275.0 275.0 35,683.0 As 10 Fo7 As 1=275.0
82k.404 Y fHliE As L=275.0
RSl
TV AE As L=364.0
82k.404 1.50 TV F27 As 1.=364.0
~ 16.50 2.00 ~ 364.0 364.0 36,047.0 As 10 Fo7 As 1.=364.0
82k.768 3.75 Y {HliE As L=364.0
Rl
TV AE As L=64.0
82k.768 3.75 TV 27 As 1.=64.0
~ 22.50 2.00 ~ 64.0 64.0 36,111.0 As Y fHliE As L=64.0
82k.832 4.00 S
82k.832 25.50 3.95 TV fAl3E As L=1157.0
~ ~ 2.00 ~ 1157.0 1157.0 37,268.0 As Y fil3E As L=1157.0
83k.989 26.00 4.95 S
TV AlE As L=450.0
83k.989 16.50 1.50 TY F>7 As 1.=450.0
~ ~ 2.00 ~ 450.0 450.0 37,718.0 As kb F27 As 1=450.0
84k.439 18.50 4.00 Y fHliE As 1=450.0
Rl
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84k.439 SEA=FS— 5 TV F>7 As 1.=80.2
~ 16.50 2.00 1.50 80.0 80.0 37,798.0 As 10 F27 As 1.=80.2
84k.519 S
TV AlE As L=334.8
84k.519 TY F27 As 1.=334.8
~ 18.50 2.00 3.50 335.0 335.0 38,133.0 As kb F27 As 1.=334.8
84k.854 Y fHliE As 1L=334.8
S
TV AlE As L=17.0
84k.854 TV 27 As L=17.0
~ 22.00 2.00 3.50 17.0 17.0 38,150.0 As Y fHliE As L=17.0
84k.871 S
84k.871 3.50 TV AI5E As L=261.0
~ 25.50 2.00 ~ 261.0 261.0 38,411.0 As Y {38 As L=261.0
85k.132 3.75 S
TV AlE As L=395.0
85k.132 TV F>7 As 1.=395.0
~ 18.50 2.00 3.50 395.0 395.0 38,806.0 As kb F27 As 1.=395.0
85k.527 Y fHliE As 1=395.0
Sy
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85k.527 SEANSESE S TW Z>7 As 1.=35.0
~ 18.50 2.00 3.50 35.0 35.0 38,841.0 As 10 F27 As 1.=35.0
85Kk.562 Sl
TV AE As L=404.0
85k.562 TV F>7 As 1=404.0
~ 18.50 2.00 3.50 404.0 404.0 39,245.0 As kb F27 As 1=404.0
85k.966 Y fHliE As 1L=404.0
S
85k.966 25.50 3.50 TV AI5E As L=532.0
~ ~ 2.00 ~ 532.0 532.0 39,777.0 As Y filiE As L=532.0
86k.498 26.00 4.00 S
TV AlE As L=771.0
86k.498 18.00 2.75 TV 27 As L=T71.0
~ ~ 2.00 ~ 771.0 771.0 40,548.0 As 10 Fo7 As L=T71.0
87k.269 18.50 3.50 Y fHliE As L=771.0
S
TV {fliE As L=27.0
87k.269 ) 145 TY F27 As L=27.0
~ 18.50 2.00 3.00 27.0 27.0 40,575.0 As 10 Fo7 As 1.=27.0
87k.296 Y fHliE As 1L=27.0
S
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TV AlE As L=28.1

87k.296 ) 145 TY Fv7 As L=28.1

~ 18.50 2.00 3.00 28.1 28.1 40,603.1 As 0 HIE As 1=28.1
87k.324 S

TV fAliE As L=108.9

87k.324 2.50 TY F>7 As 1.=108.9

~ 18.50 2.00 ~ 108.9 108.9 40,712.0 As Y {38 As L=108.9
87k.433 3.00 S
87k.433 18.50 1.00 TV AI5E As L=219.0

~ ~ ~ 2.50 219.0 219.0 40,931.0 As Y filiE As 1L=219.0
87k.652 19.50 2.00 S

DR E T

87k.652 19.50 1.00 2.00 TV AI5E As L=394.0

~ ~ ~ ~ 394.0 394.0 41,325.0 As Y filiE As 1.=394.0
88k.046 20.50 2.00 3.95 S

L0 P 16T

88k.046 14.50 1.00 TV A5E As L=612.0

~ ~ ~ 612.0 612.0 41,937.0 As Y filiE As 1L=612.0
88k.658 15.50 1.50 S
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88k.658 17.50 1.00 2.75 TV AI5E As L=496.0
~ ~ ~ ~ 496.0 496.0 42,433.0 As Y filiE As 1.=496.0
89k.154 18.00 2.00 3.00 S
TV fAlE As L=30.0
89k.154 TV 27 As 1.=30.0
~ 18.00 ~ 2.00 3.00 30.0 30.0 42,463.0 As Y fHliE As 1=30.0
89k.184 S
TV AE As L=674.0
89k.184 3.00 TV 27 As L=674.0
~ 18.00 2.00 ~ 674.0 674.0 43,137.0 As 10 F27 As 1=674.0
89k.858 3.50 Y fHliE As L=674.0
R
89k.858 TIHAS TY F27 As 1L=26.5
~ 18.00 2.00 3.00 26.5 26.5 43,163.5 As 10 F27 As 1.=26.5
89Kk.8845 S
TV AE As L=209.5
89k.8845 TV 27 As 1.=209.5
~ 18.00 2.00 3.00 209.5 209.5 43,373.0 As kb F27 As 1=209.5
90k.094 Y fHliE As L=209.5
Rl
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90k.094 TV F>7 As 1=13.5
~ 18.00 2.00 3.00 13.5 13.5 43,386.5 As kb F7 As 1L=13.5
90k.107 S
TV AE As L=534.5
90k.107 TV F27 As 1.=534.5
~ 18.00 2.00 3.00 534.5 534.5 43,921.0 As kb F27 As L=534.5
90k.642 Y fHliE As L=534.5
Rl
TV AlE As L=52.0
90k.642 TV 27 As 1.=52.0
~ 18.00 2.00 3.00 59.0 52.0 43,973.0 As Y fHliE As L=52.0
90k.694 S
Y P R 1T
90k.694 18.00 1.00 1.75 TV AI5E As L=642.0
~ ~ ~ ~ 642.0 642.0 44,615.0 As Y fHliE As L=642.0
91k.336 19.50 2.00 3.50 o AYTE AR LET
Rl
DR E T
91k.336 19.50 1.00 2.95 TV A5E As L=174.0
~ ~ ~ ~ 174.0 174.0 44,789.0 As Y filiE As L=174.0
91k.510 20.00 1.50 3.95 o AYTE AR LERT
RSl
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91k.510 18.50 1.25 2.95 TV A3E As L=92.0
~ ~ ~ ~ 92.0 92.0 44,881.0 As 0 E As L=92.0
91k.602 19.50 2.00 2.75 S
TV AE As L=290.0
91k.602 2.50 TV F>7 As 1.=290.0
~ 18.00 2.00 ~ 9290.0 290.0 45,171.0 As 10 F27 As 1.2290.0
91k.892 3.50 Y fHliE As 1=290.0
R
TV fAliE As L=191.9
91k.892 I A A TV 77 As L=191.9
~ 18.00 2.50 191.9 191.9 45,362.9 As 0 Fo7 As 1=191.9
92k.083 Y filiE As L=191.9
Rl
TV AE As L=346.1
92k.083 17.00 2.00 TV F27 As 1.=346.1
~ ~ 2.00 ~ 346.1 346.1 45,709.0 As kb F7 As 1.=346.1
92k.430 17.50 2.75 0 fHliE As L=346.1
Rl
TV fAlE As L=36.0
92k.430 2.00 TV F>7 As 1.=36.0
~ 21.25 2.00 ~ 36.0 36.0 45,745.0 As b filiE As L=36.0
92k.466 2.75 S
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O AT B 1T
92k.466 24.00 0.50 1.50 TV A3E As L=2539.0
~ ~ ~ ~ 2539.0 2539.0 48,284.0 As Y fiE As 1.=2539.0
95k.005 26.00 2.50 3.50 o AT AR 26T
St
TV {fliE As L=71.0
95k.005 TV 27 As L=71.0
~ 22.00 2.00 3.50 71.0 71.0 48,355.0 As Y fHliE As L=71.0
95k.076 Sl
TV AE As L=424.0
95k.076 TV F27 As 1.=424.0
~ 18.50 2.00 3.50 424.0 424.0 48,779.0 As kb F7 As 1=424.0
95k.500 Y fHliE As 1L=424.0
Rs: i
95k.500 T 153 1 TV 77 As 1L=79.6
~ 16.50 2.00 1.50 79.6 79.6 48,858.6 As 10 F27 As 1.=79.6
95k.579 Sl
M)M)
95k.579 7.00 TV 27 As 1.=149.4
~ 18.00 ~ 2.00 3.00 149.4 149.4 49,008.0 As kW F7 As 1=149.4
95k.729 7.50 Sl
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M) TV AE As L=262.0
95k.729 2.00 TV 27 As 1.=262.0
~ 18.00 ~ 2.00 3.00 262.0 262.0 49,270.0 As kb F27 As 1.=262.0
95k.991 4.00 S
TV fAlE As L=83.0
95k.991 TV 27 As 1.=83.0
~ 18.00 2.00 3.00 83.0 83.0 49,353.0 As kb F27 As 1=83.0
96k.074 Y fHliE As 1.=83.0
S
TV fAlE As L=61.0
96k.074 3.00 TW Z>7° As L=61.0
~ 21.75 2.00 ~ 61.0 61.0 49,414.0 As =0 filiE As L=61.0
96k.135 3.50 S
TV fAlE As L=50.0
96k.135 TV F>7 As 1.=50.0
~ 25.50 2.00 3.50 50.0 50.0 49,464.0 As Y filiE As L=50.0
96k.185 S
TV AE As L=420.0
96k.185 3.00 TV F27 As 1.=420.0
~ 25.50 2.00 ~ 420.0 420.0 49,884.0 As 10 F27 As 1.2420.0
96k.605 3.50 Y fHliE As 1=420.0
Sy
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TV fAliE As L=86.0
96k.605 10 27 As 1.=86.0
~ 25.50 2.00 3.00 86.0 86.0 49,970.0 As Y filiE As 1.-86.0
96k.691 S
96k.691 3.00 TV A3E As L=127.0
~ 25.50 2.00 ~ 127.0 127.0 50,097.0 As Y filiE As L=127.0
96k.818 3.95 S
TV AlE As L=136.0
96k.818 1.50 10 F27 As 1.=136.0
~ 21.00 2.00 ~ 136.0 136.0 50,233.0 As Y filiE As L=136.0
96k.954 3.95 S
TV AE As L=246.0
96k.954 TV F27 As 1.=246.0
~ 16.50 2.00 1.50 246.0 246.0 50,479.0 As kb F27 As 1.=246.0
97k.200 Y fHliE As 1L=246.0
Sy
TV AlE As L=977.0
97k.200 b H E 2 TY Fv7 As L=977.0
~ 18.50 2.50 977.0 977.0 51,456.0 As 10 F27 As 1L=977.0
98k.177 Y fHliE As L=977.0
S
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TV ALE As 1.=65.6
98k.177 b H A TY 27 As 1.=65.6
~ 18.50 2.50 65.6 65.6 51,521.6 As Y 527 As L=65.6
98k.242 Sl
TV {fliE As L=419.4
98k.242 TY F27 As L=419.4
~ 17.00 2.00 1.50 419.4 419.4 51,941.0 As kW F7 As 1=419.4
98k.662 ST
TV {fliE As L=60.0
98k.662 B REE S AR TV 7 As L=60.0
~ 17.00 1.50 60.0 60.0 52,001.0 As v 527 As L=60.0
98k.722 Sl
TV {fliE As L=368.0
98k.722 TY F27 As L=368.0
~ 17.00 2.00 1.50 368.0 368.0 52,369.0 As kb F27 As 1.=368.0
99k.090 Sl
99k.090 1.50 TV Al3E As L=56.0
~ 21.25 2.00 ~ 56.0 56.0 52,425.0 As TY F7 As L=56.0
99k.146 3.50 S
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99k.146 TV A5E As L=547.0
~ 25.50 2.00 3.50 547.0 547.0 52,972.0 As S
99k.693
99k.693 rawliEsa TV AIE As L=31.1
~ 24.50 2.00 1.50 31.1 31.1 53,003.1 As S
99k.724
TV BWT R 1T
99k.724 TV Al5E As L=178.9
~ 25.50 2.00 3.50 178.9 178.9 53,182.0 As Y filiE As L=178.9
99k.903 S
TV fAlE As L=84.0
99k.903 2.50 kb Z27 As 1.=84.0
~ 21.50 2.00 ~ 84.0 84.0 53,266.0 As Y fHliE As 1=84.0
99k.987 3.50 S
TV Al5E As L=660.0
99k.987 2.50 TV F>7 As 1=660.0
~ 17.50 2.00 ~ 660.0 660.0 53,926.0 As 10 F27 As 1.=660.0
100k.647 3.50 Y {HliE As 1L=660.0

S
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TV {filiE As L=103.0
100k.647 T ERG TW S As 1L=103.0
~ 16.50 2.00 1.50 103.0 103.0 54,029.0 As 10 F27 As 1.103.0
100k.750 Y ;& As 1L.=103.0
S
TV {fliE As L=290.0
100k.750 2.50 TV F>7 As 1.=290.0
~ 17.50 2.00 ~ 290.0 290.0 54,319.0 As 10 F27 As 1.2290.0
101k.040 2.75 Y fHliE As 1=290.0
S
TV {fliE As L=14.0
101k.040 TV 27 As 1=14.0
~ 21.50 2.00 2.50 14.0 14.0 54,333.0 As kb F27 As L=14.0
101k.054 Sl
101k.054 TY {fliE As L=187.0
~ 25.50 2.00 2.50 187.0 187.0 54,520.0 As Y filiE As L=187.0
101k.241 Sl
(F) TV {fliE As L=231.0
101k.241 TV 27 As 1=231.0
~ 16.50 2.50 2.00 1.50 231.0 231.0 54,751.0 As kb F27 As 1=231.0
101k.472 Sl
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(M)M) TV fAlE As L=98.0
101k.472 4.00 TV 27 As 1.=98.0
~ 16.50 ~ 2.00 1.50 98.0 98.0 54,849.0 As kb Z27 As 1.=98.0
101k.570 5.00 Sl
(M)M) TV {fliE As L=142.0
101k.570 R RTS8 G TV 77 As L=142.0
~ 16.50 4.50 2.00 1.50 142.0 142.0 54,991.0 As 10 Fo7 As 1.=142.0
101k.712 Sl
M) TV fAE As L=66.0
101k.712 TV 27 As 1.=66.0
~ 16.50 2.00 2.00 1.50 66.0 66.0 55,057.0 As kb F27 As 1=66.0
101k.778 Sl
TV {fliE As L=89.0
101k.778 TV F>7 As 1.=89.0
~ 16.50 2.00 1.50 89.0 89.0 55,146.0 As kb F27 As 1=89.0
101k.867 Y {HliE As 1.=89.0
St
M) TV {fliE As L=55.0
101k.867 3.00 TV 27 As 1.=55.0
~ 16.50 ~ 2.00 1.50 55.0 55.0 55,201.0 As kb Z27 As L=55.0
101k.922 4.00 Y {HliE As 1=55.0
St
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(M)M) TV fAlE As L=18.0
101k.922 TY Z>7 As L=18.0
~ 16.50 8.00 2.00 1.50 18.0 18.0 55,219.0 As kb Z27 As 1=18.0
101k.940 Y fHliE As L=18.0
St
(M)M)
101k.940 TY F27 As L=97.0
~ 16.50 8.00 2.00 1.50 97.0 97.0 55,316.0 As kb Z27 As 1=97.0
102k.037 Sl
(M)M)
102k.037 A TY F27 As L=18.6
~ 16.50 8.00 2.00 1.50 18.6 18.6 55,334.6 As Y Fo7 As 1L=18.6
102k.0556 Sl
M)M)
102k.0556 6.00 TY Fo7 As L=107.4
~ 16.50 ~ 2.00 1.50 107.4 107.4 55,442.0 As kb F7 As L=107.4
102k.163 8.00 S
M)M)
102k.163 6.00 INER 2 TY 7 As L=141.0
~ 16.50 ~ 2.00 1.50 141.0 141.0 55,583.0 As Y Fo7 As L=141.0
102k.304 7.00 Sl
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M) TV {fliE As L=49.0
102k.304 2.00 INER 2 TY 27 As 1L.=49.0
~ 16.50 ~ 2.00 1.50 49.0 49.0 55,632.0 As 10 F27 As 1.=49.0
102k.353 3.00 S
TV {filiE As L=186.0
102k.353 USHTSE S TV 7 As L=186.0
~ 16.50 2.00 1.50 186.0 186.0 55,818.0 As 10 F27 As 1.=186.0
102k.539 Y ;& As 1.=186.0
S
TV {fliE As L=287.0
102k.539 1.50 TV F27 As 1.=287.0
~ 21.00 2.00 ~ 987.0 287.0 56,105.0 As 10 Fo7 As 1.=287.0
102k.826 3.50 Y fHliE As 1L=287.0
S
TV {fliE As L=154.0
102k.826 TV F27 As 1=154.0
~ 25.50 2.00 3.50 154.0 154.0 56,259.0 As kb F27 As 1=154.0
102k.980 Y & As 1L=154.0
S
TV {fliE As L=320.0
102k.980 2.00 TV F>7 As 1.=320.0
~ 17.00 2.00 ~ 390.0 320.0 56,579.0 As 0 F27 As 1.=320.0
103k.300 3.50 Y fHliE As 1=320.0
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TV AE As L=241.3
103k.300 1.50 AU TV 7 As 1L=241.3
~ 17.00 2.00 ~ 241.3 241.3 56,820.3 As 10 F27 As 1.=241.3
103k.541 2.00 Y fHliE As L=241.3
S
TV AlE As L=265.7
103k.541 TV 27 As 1.=265.7
~ 17.00 2.00 1.50 265.7 265.7 57,086.0 As kb F27 As 1.=265.7
103k.807 Y fHliE As 1=265.7
Sy
TV {fliE As L=76.0
103k.807 1.50 TV 27 As 1.=76.0
~ 21.25 2.00 ~ 76.0 76.0 57,162.0 As =0 filiE As 1L=76.0
103k.883 2.50 S
DR E T
103k.883 25.50 1.00 TV Al5E As L=193.0
~ ~ ~ 2.50 193.0 193.0 57,355.0 As Y filiE As L=193.0
104k.076 27.00 2.00 0 AP AR 16T
Sy
TV {fliE As L=77.0
104k.076 2.50 kb Z7 As L=77.0
~ 21.50 2.00 ~ 77.0 77.0 57,432.0 As b fiE As L=77.0
104k.153 3.50 S

i REERICE. BEBEXBEFEZOMEROEE LW ELEREZREHISIL



£k
(46/49)

£ RO E G4

HEINGE R Ltﬁﬁi@ RS
- i A i R Ll
HOE %O 5y B M % E G & VEAR iR i
TV AE As L=477.0
104k.153 2.50 TV 27 As L=477.0
~ 17.50 2.00 ~ 477.0 477.0 57,909.0 As 10 F27 As L=477.0
104k.630 3.50 Y fHliE As L=477.0
RSl
(F) Y Z27 As L=93.0
104k.630 16.50 1.50 10 o7 As 1.=93.0
~ ~ 2.00 2.00 ~ 93.0 93.0 58,002.0 As Y fHliE As 1.=93.0
104k.723 17.50 2.50 S
104k.723 S s TV F>7 As 1.=100.9
~ 16.50 2.00 1.50 100.9 100.9 58,102.9 As 0 F27 As 1.100.9
104k.823 St
T~ 10 97 G TR 20nr
104k.823 16.50 1.00 1.50 TV LY filiE As L=408.1
~ ~ ~ ~ 408.1 408.1 58,511.0 As TW Z7 As L=408.1
105k.232 33.00 2.00 3.50 10 F27 As 1.=408.1
RISl
TV fAE As L=69.0
105k.232 TV 27 As 1.=69.0
~ 17.50 1.50 69.0 69.0 58,580.0 As kb Z27 As 1769.0
105k.301 Y fHliE As 1=69.0
RISl
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TV AlE As L=25.0
105k.301 16.50 10 27 As 1.=25.0
~ ~ 1.50 25.0 25.0 58,605.0 As Y fHliE As 1=25.0
105k.326 17.50 S
DR E ST
105k.326 16.50 1.50 TV AI5E As L=679.0
~ ~ ~ 679.0 679.0 59,284.0 As Y fHliE As L=679.0
106k.005 19.50 2.95 o AYTE AR LERT
RSl
TV AlE As L=33.0
106k.005 10 o7 As 1.=33.0
~ 17.00 2.95 33.0 33.0 59,317.0 As Y fHliE As 1=33.0
106k.038 S
TV AlE As L=54.0
106k.038 17.00 2.00 TV 27 As 1.=54.0
~ ~ ~ 54.0 54.0 59,371.0 As 10 F27 As 1.=54.0
106k.092 17.50 2.95 Y fHliE As 1L=54.0
Rl
TV AE As L=274.0
106k.092 16.50 1.50 TV 27 As L=274.0
~ ~ 2.00 ~ 274.0 274.0 59,645.0 As kb F7 As L=274.0
106k.366 17.50 2.00 Y fHliE As L=274.0
Rl
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TV fAlE As L=68.3
106k.366 RATLE el 3 E TW 7" As L.=68.3
~ 16.50 2.00 1.50 68.3 68.3 59,713.3 As 10 F27 As 1.=68.3
106k.434 Y {fHliE As 1.-68.3
RSl
TV AE As L=379.7
106k.434 TV 27 As 1=379.7
~ 16.50 2.00 1.50 379.7 379.7 60,093.0 As kb F27 As 1=379.7
106k.814 Y fHliE As 1=379.7
RISl
TV fAlE As L=78.0
106k.814 1.50 TW 7" As L=78.0
~ 21.00 2.00 ~ 78.0 78.0 60,171.0 As b filiE As L=78.0
106k.892 3.50 S
106k.892 TV AI3E As L=75.0
~ 25.50 2.00 3.50 75.0 75.0 60,246.0 As Y fHliE As L=75.0
106k.967 S
(M) DR E ST
106k.967 25.50 1.00 1.50 TV AI3E As L=905.0
~ ~ 3.00 ~ ~ 905.0 905.0 61,151.0 As L0 Afr S 16E T
107k.872 26.50 2.00 2.50 S
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107k.872 25.50 1.00 TY AP A #R LERT
~ ~ 3.00 ~ 1.50 128.0 128.0 61,279.0 As TV I3E As L=128.0
108k.000 33.50 2.00 Sl
MM
108k.000 25.50 1.00 o AYTE AR LET
~ ~ 5.50 ~ 1.50 169.0 169.0 61,448.0 As S
108k.169 33.50 2.00
MM
108k.169 TY {fliE As L=44.0
~ 25.00 5.50 1.00 1.50 44.0 44.0 61,492.0 As kb F27 As 1=44.0
108k.213 Sl
MM BlABIZA
108k.213 5.00 TY F7 As L=246.0
~ 16.50 ~ 1.50 246.0 246.0 61,738.0 As kb F27 As 1.=246.0
108k.459 5.50 Sl
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